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1. Answer any five questions :
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s are required to give their answers in their
own words as far as practicable.
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i)

Translate the following sentence into a standard
form categorical proposition:

Fosfae +3:

There are white elephants.
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What is the contrapositive of A proposition?
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What is the principle of validity of a deductive
argument?
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How many rules of categorical syllogism are
accepted by Copi?
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v)

vi)

vii)

viii)

Answer any two questions :

Express by means of Venn Diagram:
(oo &l T
Nothing is perfect.
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\What is meant by necessary condition o an
?
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How many experimental methods are admilted

by Mill?

What is the probability of getting 6 in the toss

of a fair dice?
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i)

ii)

iii)
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Show the distinction between traditional logician
and modern logician regarding opposition of
propositions. 5
wEe RAete fEw dbke ek o =g
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What is the relation between truth and validity?
What is meant by soundness of an argument?
3+2
Terel 8 RS E ¢ e wage! e §
QAR ?
State, after Copi, Mill's method of Difference,
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iv)

Answer any two questions :

Explain the following two formula for
computing the probability of events: 242
P(aandb)=P(a)xP(b)

P(aorb)=P(a)+P(b)
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P(aandb)=P(a)xP(b)

P(aorb)="P(a)+P(b)
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i)
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Test the validity of the following syllogisms and
mood with the help of Venn Diagram:
3143543

e F4a:

a) Plato is a Greek. Plato is a philosopher.
Therefore, some Greeks are philosophers.
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@A &z i)

b) Some mammals are not horses, for no

horses are centaurs and all centaurs are
mammals.
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c) AAl-4th figure
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ii)

iii)

iv)
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Explain with examples three laws of thought.
10
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Critically examine the utility and limitations of
Mill's methods. 10
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Calculate the probability of the following
events: S5+5
I ot Forre! e 4
a)  Indrawing three cards in succession from
a standrad deck, what is the probability of
getting at least one spade?
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1) If each card is replaced before
making the next drawing?
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i1) If the cards are not replaced?
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23 ?
b)  What is the probability of having total
'seven' (7) in throwing two dice? :
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